W%f#%%ﬁﬁﬁ F—a% 3¢ S FLigr R
=

A AR AT Rt
’\f'%#ﬁ»"‘i:ré'fé‘ ?%Fﬁg*{f"aw‘arr'/q%)f” arr%%f—‘/ﬁrr%’};
B o 2§ LEH KR ERHF 2 585K EHRE
Hkod P LA EPMEL > XEE T E% d S B 2 Hp R
BofBE TaRGF P RREEHR A -G 2 B BT

\

Fomk gzt

=
d\

=4

2

4
2

\

-~ TRER, TEY CTECSFEEER, 2 THB S F .



A

%&@ﬁ%%ﬁﬁ%ﬁ%—a%ﬁéipgﬁ%
DI 4 TR P
§09002 8t d = B §09002 ar ¢ = 5 -~ l ‘é’f#
Erythrosine (Food Red No.7) Erythrosine (Food Red No.7) B "o
A IR I
[ /;L”/O Na ¥ 2 R Bk
" /\/Jj &/l %J 2 Id
H,0 %J\ j]\/[ fé'%f
]”” "0 T” ~0" Na® R BTN = 4
! | < }I?& g
A F 3% 1 CooHeOs1sNaz-HoO A3 N 1 CaHeOs1iNax - HoO Z BT
23 F 189791 A3 $ 189791 ¥ F e
Lz i L D N S S
C20HeOsl4Naz - HoO Js %.85%14 + o | C0HeOsLaNaz-HoO B 7 85.0% 12
2B ARSIk B RE | o

3.0 1k 50.1g 0 +:0.02 Mps ik
475 500mLA f3 0 B AR 2 d o
£t 3 mL o 400,02 Mp# i 4%

%o i 2200 mL > At & 524~
528 nmie’ BB Bt BT oo
4% 4 ¢+~ 50.1 g% *-K100mL >
Bprklrme

S5.k2 B 1A E N2 Wil
T RBIR R F R (FHERA-
18) k234 Wizt 2
oo g ok B b 20.3% 00
< o

6.4 1 A& 2 kin i (12100)2
pHE > J& 5 6.5~10 -
TEMFZEER AT 2g
MR HBY EI ZRE%KRE
PIEFMF I ERB kA2 kE
Zo o Bir g F VP2 mpa @2
B B B2% T o

B 1B A 05g 0 HREE T &
FE? TR hiEk bz 0 H
77 A (11 As2033) i 2 ppm Y
T o

0DEEE AR5 HEBRE
A SR W X R R
RirSfgqpints £ 20002

2RI ARG 2~ B R
3.8 ¢

(D& &2 -kig ik (10 1000) s &
d o

(2)A &2 ki3 (1 : 1000) SmL >
e BEImL o A ke d Ak
()~ &2 Frfeid ik (1:100) & & t=
F I OB R2~30F S SmL
RS EERY SER AR X
(A 501 g e fedeR i3
2000) 500 mLi% % » B~p* %3 mL >
£ 4o g dsd i (32 2000) 1 200
mLz_ + 524~528nm
I R S S T

4.4 ¢+ & 501 g% -k100mL -
Hpnk TEm -

5ok g L A R2 g HAEAL
T B RS AR (A
18) k2 3P tebizwbz
Bz k2322 FAHE
0.3% °

6. %M T A &2 kiR (12100)2
pHiE > J& % 6.5~10.0 -

7.5 v 42 Eﬁﬁi@ IBAREN2g
WAL RBRES A R%2
L WLl I - R ]

IE x4
LSRNt )




2bz BT EERRA
] 4 45500 ppm 2 T 525 ppm ™
T o £200ppmiL T 0 £ His & &
(1 Pb) i 220 ppm,u"f °
108w d % - f[* Bropipkds

ZRlEET B 2278 o
B 3% T o

(1)’]‘@\,1"/9/1 \\%%@l:

Poh 501 g0 a0 110.02

M s 4573 i 73 13 5 % F 3 100
mL > % & pFAT Ok IR T R o

£ HFmmE B2 mL > 120.02 Mﬁkﬁx

4% % T F 220ml> 5045 Hm/@

Hg"‘@’}ﬁ TP SRR e
)Rl iz -
RFEE P &% 220pl > 3 > 3

oo Bz i 2 pa B2
£ (& B MClLE SO43-) s 2% 12
T o

B I P A 0S5 g PRR B AR
kv T Wbzt hz o B
72 A (1A 033 ) 22 ppm it T oo
0EEB P AR25g RBYEE
¢ Rk TE A akhizY
WiEX SRR L ROQOE
Oiztehz A EEBRA
B 5 48500 ppm 2 T > 4225 ppm 4
T 5 200ppm T 0 2 H W &
B (4 Pb3*) s 220 ppm it T e
108 # ¢ % : 54 5010g &%
WEIFREH%EY THB I % ¥
220 b2 P A g d F G

MR KT RY o BT AiE e

A BT A E N R

s & %2 /‘Eﬁ
—:d—\i*;g'%7 z,&(%)

_ Atotal Amam

x D
Atotal
D:#&*" a* =d - 52 7§
%
Atotal : ;fé }fgﬁ ‘)f% }%d];a‘*/\oi 504"\'&?5_

P ok 2 6 A g0
Amain . /&#B@ *ﬁ' %];.g.d .'_*g

B

2% fE

B it Ap A 19 iR R O
ARk - EAE e E

4 €530 nm o
K4t 1 C18>5um> P j£4.6 mm

x25¢cm
K17 88 R 1 40°C o
'Ji % 20uL -
f"’#ﬁ/pni’ A% (0.02 Mﬁ“"ﬁ&ﬁ A
u:z)btiB.z[b % 1 Kk(7:3, V/V)/pu ]

T FE A ER ﬁ—:)i A
R (min) A (%) B (%)
0 —30 80—80 20— 20
30—-38 80—30 20—70
38—50 30—30 70—70
#F#4piniE L 1.0 mL/min o

[ ./ﬁ»dé‘ﬁ?fﬁ"¢&"-t/ﬁ»‘l'§m

=3 N 21 o
Mz FAe2 - gt »

3%]‘1’[ o

1135 % R £ ¢ & 520 135°CHz %6
| PE ﬂ,ﬁkiﬁim
12%(*it45-A-3) ©

12.5 BRIZ: A5 1go HAE
AR ekip iR RF 2100mL
£ 3002 50.0 LI 5 505 0%

HBELES 2% T2

R OF B AR T
FERGE
g% = d = ¥ (CuHeOslsNar - H,O)
Li2
R 2. x 2.148
SIEEEEEIAIH o0
¥ P £ (2)




2. PR RIEEAIAGRE T
kAT 2 R 0 KT E 2B
TiE 2 o

11.35% B E ¢ A 53 135°Ciz %6
ppE B AR R EI2%T
(*i45A-3) -

123 BBz A 5Xlg Him
FF o 4ekiR 2 2% 3100 mL
PR 50.0 mLiT & 4 505 0% 0
KRB ES ERE%K2Y TR

L QEEF R R 2T RT S
FEAEZE

ar izd 52 7% %

R 2 2 (g) X 2.148
- = — x 100

%P3 E(g)

i Al
B4 5w 20188% 44 3F o
¥ 9 s Rhhd g o 679-
680 F o & % > B & o




